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FFor | W B #B BT BRE
1| ERE 5 |FEE 6665k TR R = Bk 77 5%
2| SRIEH 5 [EE6058Z3 TREEES —E% 156 5%
3 ERIE 3 |EE 495 12 IREEES — B 272 9%
4 EFIH 3 |EE 5051 JREEES — B 185 9%
5| EfH 3 |EES05% TREE R — % 187 5%
6| EFH 3 |EE 4958 JREEES — B 189 9%
7 ERE 3 |EE 4951 TREE R — % 191 5%
8 ERIE 3 |EE 4952 TREEE = B 193 9%
o EFfH 3 |EE 49583 TREERS =B 195 9%

10 EFE 3 |EE 4954 TREEIE = B 197 5%
11 ERH 30 |EE495E S RER RS =% 199 5%
12| EHE 3 |EE 4956 JREEES = B 201 5%
13| ERH 3 |EE 45T JREERS = B 203 9%
14| EFE 3 |EE 49588 JREEES = B 205 9%
15| ERH 3 |EE 4959 TREERS =B 207 9%
16| EFIH 1| EE20529 TREERS =B 257 9%
17| EfE 1 |[E" 16551 JREE RS = B 289 5%
18] EFIE 1 [EE15%23 JBREEES = B 309 9%
19| ERH 1 |EE 252 TREEES = B 317 9%
200 EHIH 1 [EE25823 JREEES =B 319 9%
21 EfHE 11 [ZEF79 5% JREE RS = B 382 5%
22| EFIE 11 |ZEFT35982 6 TRER S =B 396 5%
23 ERIHE 11 [ZEF170 5% TREEES = B 402 5%
24| EFIE 11 |35H169 5k RERES =% 412 5%
25| EAIH 11 |Ef16258 2 1 TREE R — B 367 5%
2600 ERIE 11 [ER62 225k TRERES = E% 365 5%
27| EFIE 11 |[FEM 635526 TRERRE — B 468 5%
28] EAIH 11 |ER63982 7 TREEES = E% 466 5%
29| ERIE 11 |ZEF163 982 8 TEZ S — % 462 5f




FPat & B W (HEERFTRR BRI
30| SFIE 11 |ZEM635E2 9 TER S — B 460 57
31 SAIHE 11 |5EF163 582 10 TRER S — F% 458 57
32| SEFIE 11 |ZEM63 552 11 TER S — B 456 5f
33 SAIHE 11 |ZEF163 552 12 FRER S — B 452 57
34| SFIE 11 |ZEN63 582 13 TER S — % 450 5
35| SAIE 11|57 60 55 i ER S — B 380 H%
36| SFIE 9 |ZEMI24582 2 TER S — % 536 5f
37 SHIHE 9 |FEM45HEZ1 fRER S =B 497 57
38| SFIE 9 |ZEMI45EZ2 TERI —F% 489 5%
39| SRHE 9 |EM45EZ3 T EL I =% 505 5%
40| SAIE 0 |ZEM45EZ 32 TRER S — F% 668 5%
41| SHIEH 9 |ZEMI455230 FRER S = E% 710 5%
42| SRIE 0 |ZEMI45EZ 36 TR ER S =B 736 5%
43| SFIE 9 |ZEM15EZ 60 FRER S — FZ 858 5%
44 SRIH 0 | HEZ 25 TR ER S =% 591 5%
45| SFIE 9 |ZEMI15EZ19 TRER S = E% 639 5%
46| SMIEH 9 |FEM13EZ 15 iER S —FZ 663 5k
47 SHIHE 9 |ZEM15EZ 21 EEES =B 715 5%
48| SMIEH 9 |EMI1FEZ 1T iER S —FZ 735 5k




